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جامعة الملك سعود - كلية العلوم – قسم الكيمياء
الاختبار الفصلي الثاني  في مقرر 145 كيم (1433هـ ـ 1434  هــ )

الزمن: 90 دقيقة     

أسم الطالب:

    




رقم الطالب: 

ملاحظة هامة: تصحيح الامتحان سيكون بناء علي الإجابة المكتوبة في الجدول السفلي (حرف الإجابة الصحيحة ) ولن ينظر إلى بقية الأوراق والتي تعتبر مسودة. يمنع استخدام القلم الرصاص في جدول الإجابة . تكتب الاجابات بالأحرف الكبيرة -  Write answers in capital letters 

	الإجابة
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1. The reaction of two moles of HI with dimethyl ether gives
	A)
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2- The structure of Acetal is:
	A)
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	3. The correct name of the following structure 
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	is :
	

	A)
	 2-Methyl-3-pentenal
	B)
	4-Methyl-2-pentenal

	C)
	2-Methyl-3-pentanal
	D)
	4-Methyl-2-pentanal


4. The product of the following reaction
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	is:


	A)
	Ether
	B)
	Ketone

	
	
	
	

	C)
	Alkyl halide
	D)
	Aldehyde


5. The product of the following reaction
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6. The product of the following reaction
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7. The compound with the highest boiling point is
A) Ethanol


B) Dimethylether

C) Ethane


D) Acetaldehyde

8. The product of the following reaction:
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9. The product of the following reaction
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10. The following reaction
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	gives :

	
	
	
	

	A)
	o-Bromotoluene
	B)
	p-Bromotoluene

	
	
	
	

	C)
	Benzyl bromide
	D)
	m-Bromotoluene


11. Which of the following structure is classified as secondary alkyl halides?
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12. The common name of the following structure is
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A) Allyl chloride    B) Vinyl chloride         C) Benzyl chloride       D) Propyl chloride
13. Which of the followings is the most acidic compound?
	A)
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14. The final product of the following reaction?
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	is:


A) Phenol            B) Aniline                            C) Xylene                    D) Anisol
15. The reaction of aldehydes with hydroxyl amine (NH2OH) gives
A) Hydrazone     
B) Phenylhydrazone   

C) Oxime      

D) Imine
16. Grignard reagents are
A) Alkyl halides        B) Alkyl magnesium halides     C) Magnesium halides     D) Alkyl manganese halides
17. The major product of the following reaction 

	
[image: image39.wmf]C

H

3

C

H

2

C

H

C

H

3

O

H

KMnO

4


	is :


A) Aldehyde        B) Carboxylic acid        C) Ketone       D) Mixture of aldehyde and carboxylic acids
18. The IUPAC name of the following structure 
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	is :

	
	
	
	

	A)
	3-Cyclopropylpentanal
	B)
	3-Cyclopropylpentanol

	
	
	
	

	C)
	3-Cyclopropylpentanone
	D)
	3-Cyclopropylbutanal


19. The major product of the following reaction
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20. Nucleophiles react with
A) Electrons                 B) Carbocations                  C) Carbanions             D) Free radical
21. The IUPAC name of the following structure is
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	A)
	2-Chloro-5-hydroxyhexane

	
	B)
	2-Hydroxy-5-chlorohexane

	
	C)
	5-Chlorohexan-2-ol

	
	D)
	2-Chlorohexan-5-ol


22. The major product of the following reaction 
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23. The correct IUPAC name of the following structure:
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A) 1-Hydroxy-3-methyl-6-isopropylbenzene

B) 5-Methyl-2-t-butylphenol

C) 2-t-Butyl-5-methylphenol

D) 3-Hydroxy-4-t-butyl-1-methylbenzene
24. The major product of the following reaction
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25. Which of the following compounds cannot form hydrogen bonds with itself
	
[image: image55.wmf]C

H

3

O

H


	
[image: image56.wmf]C

H

3

C

H

3

C

H

3

COOH


	
[image: image57.wmf]C

H

3

N

H

2

C

H

3


	
[image: image58.wmf]C

H

3

C

H

3

C

H

3

C

H

3

Cl



	A)
	B)
	C)
	D)


26. The reaction of primary alkyl halide with aq. NaOH gives
A) Alkene      
B) Diol       
C) Alcohol     

D) Epoxide.
27. The hydrolysis of sodium phenoxide gives
A) Benzene     

 B) Toluene     

 C) Phenol       


 D) Anisol

28. The reaction of ethyl alcohol with conc H2SO4 to form the corresponding Ethene is classified as
A) Substitution reaction    
B) Addition reaction   
C) Elimination reaction      
D) Free redical substitution reaction

29. Reaction of HCN with carbonyl group is classified as
A) Elimination reaction

B) Electrophilic addition reaction

C) Nucleophilic substitution reaction

D) Nucleophilic addition reaction 

30. How many hydrogen atoms in Benzaldehyde?
A) 3                    B) 5            C) 6           D)    9
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